Q

2/3 Port Mechanical Valve

Series VM 100

Compact size.
Piping options:

Side piping, Bottom piping
A variety of actuator types.

5-6-12

Specifications

Piping

Side ported [ Bottom ported

Fluid

Air/lnert gas

Operating pressure

—100 kPa to 1.0 MPa

Ambient and fluid temperature

-5 to 60°C (No freezing)

Effective area

2.5 mm?

Lubrication Not required (Use turbine oil Class 1 ISO VG32, if lubricated.)
Port size 8 M5 x 0.8
Weight (Basic) 959 1109
Model
Side ported Bottom ported Actuator Aoolication
2 port 3 port 2 port 3 port part no. ppiicatio
e VM120-01-00 | VM130-01-00 | VM122-M5-00 | VM132-M5-00|
. VM121-01-00 | VM131-01-00 | VM123-M5-00 | VM133-M5-00
S | Roller lever | YM121-01-01 | VM131-01-01 | VM123-M5-01) VM133-M5-01]  — | Polyacetal roller
g VM121-01-01S | VM131-01-01S | VM123-M5-01S | VM133-M5-01S| — | Hard steel roller
S [One way VM121-01-02 | VM131-01-02 | VM123-M5-02| VM133-M5-02) — | Polyacetal roller
g [roller lever | VM121-01-02S | VM131-01-02S | VM123-M5-025 | VM133-M5-028| — | Hard steel roller
‘€ | Straight plunger | VM120-01-05 | VM130-01-05 | VM122-M5-05| VM132-M5-05| VM-05B —
5 |Roller VM120-01-06 | VM130-01-06 | VM122-M5-06| VM132-M5-06) VM-06B | Polyacetal roller
2 | plunger VM120-01-06S | VM130-01-06S | VM122-M5-06S | VM132-M5-06S | VM-06BS | Hard steel roller
Cross roller | VM120-01-07 | VM130-01-07 | VM122-M5-07| VM132-M5-07| VM-07B | Polyacetal roller
plunger VM120-01-07S | VM130-01-07S | VM122-M5-07S | VM132-M5-07S | VM-07BS | Hard steel roller
Toggle lever | VM120-01-08 | VM130-01-08 | VM122-M5-08| VM132-M5-08| VM-08B
VM120-01-30R | VM130-01-30R | VM122-M5-30R | VM132-M5-30R | VM-30AR Red
Push button | VM120-01-30B | VM130-01-30B | VM122-M5-30B | VM132-M5-30B | VM-30AB Black
(Mushroom) | yM120-01-30G | VM130-01-30G | VM122-M5-30G| VM132-M5-30G| VM-30AG Green
VM120-01-30Y | VM130-01-30Y | VM122-M5-30Y | VM132-M5-30Y | VM-30AY Yellow
VM120-01-32R | VM130-01-32R | VM122-M5-32R | VM132-M5-32R| VM-32AR Red
Push button | VM120-01-32B | VM130-01-32B | VM122-M5-32B | VM132-M5-32B | VM-32AB Black
§ |(Extended) | yM120-01-32G | VM130-01-32G | VM122-M5-32G| VM132-M5-32G | VM-32AG Green
‘g VM120-01-32Y | VM130-01-32Y | VM122-M5-32Y | VM132-M5-32Y | VM-32AY Yellow
g F,éfﬁgh?“tton VM120-01-33 | VM130-01-33 | VM122-M5-33| VM132-M5-33| VM-33A | plack e yeliw
§ ) VM120-01-34R | VM130-01-34R | VM122-M5-34R | VM132-M5-34R| VM-34AR Red
= l;‘l”esétor VM120-01-34B | VM130-01-34B | VM122-M5-34B | VM132-M5-34B| VM-34AB Black
(2 position) | VM120-01-34G | VM130-01-34G | VM122-M5-34G| VM132-M5-34G| VM-34AG Green
VM120-01-34Y | VM130-01-34Y | VM122-M5-34Y | VM132-M5-34Y | VM-34AY Yellow
éeg(fsﬁt'ﬁ)";fr VM120-01-36 | VM130-01-36 | VM122-M5-36| VM132-M5-36| VM-36A
VM131-01-35R | VM151-01-35R | VM133-M5-35R | VM153-M5-35R|  — Red
Twist VM131-01-35B | VM151-01-35B | VM133-M5-35B | VM153-M5-35B]  — Black
selector VM131-01-35G | VM151-01-35G | VM133-M5-35G| VM153-M5-35G|  — Green
(3 position) - ['yp131-01-35Y | VM151-01-35Y | VM133-M5-35Y | VM153-M5-35Y|  — Yellow
(3 port) (5 port) (3 port) (5 port) —

Note 1) Actuator replacement is available for all types except for roller lever, one way roller lever,
Q and 3 position selector.
Note 2) For push button (mushroom), push button (extended), push button (flush) and a single
unit of fastening ring, refer to pages 5-6-6 to 5-6-7. The other parts are not replaceable.
Note 3) The handle of the selector (2 position and 3 position) cannot be removed or replaced
alone.

o
5



Series VM100/Bottom Ported

2/3 Port Mechanical Valve Series VM 1 00

Basic

2-M3X0.5 > i
VM122-M5-00 Actuator mounting hole S por 3
VM132-M5-00 § T MallP
VM123-M5-00 27 1(ZP)A
VM133-M5-00 R port y o 2-M5 x 0.8 depth 4 3 port (A)
A sl jim
‘ 3 por;only) ol H = T T
TAT EANNENED 1P13E) S
g} g J< Model L T A * 0.5 MPa supply SCA
- g 7 ‘? VM122:M5-00 [ | FOF.* 20N ——
17 25.4 VM132-M5-00 : : P.T. 1.5 mm VDA
2-4.6 44 VM123-M5-00 335| 35 O.T. 1.5mm L
mounting hole VM133-M5-00 i i T.T. 3.0 mm SDA
Roller lever JIS Symbol o —
iz o | vow
VM123-M5-01S 455 o T -
] - olyacetal or hard steel roller 1(P) VM
VM133-M5-01S Elg K 29 / 8 3 port 2(A)
t 7aR\1 R port /M At:) VR
/J:'/)’,\ = (3 port only) 1(;;;3“:{) L
B ;fT—\d:(—E é ﬁ) 7 + 0.5 MPa supply VH
8 é_@f" | 2-M5 x 0.8 depth 4 FOF * 0N —
- .O.F.
; ‘ = P.T. 3.2mm VHS
2-4.6 254 O.T. 2.3 mm
mounting hole 44 T.T. 5.5 mm
One way roller lever JIS Symbol
VM123-M5-02 465 210 2 port Ik
VM133-M5-02 E '5: 5 20 Polyacetaéor hard steel roller T :)
VM123-M5-02S T = 1(P)
VM133-M5-02S % \é’jfi L g R port 3 port 2(A)
.Ilaﬂ\!!:. } LA 15‘ ¥(3 port only) /‘ :—)
3 Qs M1yl fr
2 CARBEREI - . 1P)I(R)
G |
¥ -0 o } 2-M5 x 0.8 depth 4 18 0.5 MPa supply
1*7 s . = ! F.O.F.* 10N
mounting hole 44 gyg@% P.T. 3.2mm
O.T. 2.3 mm
T.T. 5.5 mm
Straight plunger JIS Symbol 5,
VM122-M5-05 2-M14x 1 2 port T 714
VM132-M5-05 Hexagon nut thick 5, AVA T O
1 o8 across flats 17 Panel 1P
o) ofH ] mounting hole
; ( R Por; »e 3 port 2(A)
3 port only
®/’ a4 TY
o 1(P)3(R)
~ MAX6 # 0.5 MPa supply
2-M5 x 0.8 depth 4 18 F.O.F.* 23N
=546 - P.T. 2.0 mm
17 -4 My Al
mounting hole = &@ﬂh{‘ '?': (132 22
Roller plunger Panel ;'S Stymb°' o0
-M5- mounting hole por
¥m1 gg-mg-gg | = = mF(’)onacetal or 4 ALy hick a2 - /\/\ . ‘ D
VM122-M5-06S NS hard steel roller exagon nut thick 5, > T
-IVIo- - ross flats 17 : 1(P)
VM132-M5-06S 3 port 2(A
o 1= MAX.6
A
/7 M| D
Iy I ] 1P 1(P)3(R)
@ )4 g O Reot 5,08 6e0ms 8 * 0.5 MPa supply
f%{% s B (3 port only) F.O.F.* 23N
17 |2-4.6 284 — ="y P.T. 2.0 mm
mounting hole 44 = O.T. 1.5 mm
T.T. 3.5 mm
5-6-17

O



